Knotenpotentialverfahren

-U1- 0
U, 0
Knotenspannungen U=|U,;| Knotenstrome I=|I,
U, 0
.U5- 0
. -1 U3
Knotenpotentialverfahren G-U=1I U=G  -I=R-I R988=I—
3
Beispiel
Leitwerte Gl::i.s G2::i.s GS::L-S GG::L-S
20 5 10 20
1 1 1 1
Gipi=—28 Gigi=—+8 G3:=—+8 G,i=——-8
10 10 12 20 13 5 7 20
I,:=1-A
Leitwertsmatrix
-G Gr+Gp+Gis  —Gi -G 0
G:= 0 —Gi3 G131+ Gy -Gy 0
0 -G —Gi2  Get+Giat+Gyg —Gs
-G, 0 0 -Gy Gy +Ge+Gs |
Widerstandsmatrix ~ R:=G'
0 5.714
0 15.714
Knotenstrome I:=|I, Knotenspannungen U:=R-.1=|19.286|V
0 13.571
0 3.571
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